	[image: image2.png]



	Midterm Test (Units 1-8)
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	STEAM Reading Beginner 1
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· Read and circle.

	1.
	[image: image1.jpg]The bridge is made of ____________. 

	
	a.
	rubber

	
	b.
	metal

	
	c.
	brick

	2.
	[image: image2.png]The children played in the ____________.

	
	a.
	arm

	
	b.
	sand

	
	c.
	button

	3.
	[image: image3.jpg]Tires are made of ___________. 

	
	a.
	armor

	
	b.
	wood

	
	c.
	rubber

	4.
	[image: image4]The _________ is empty. 

	
	a.
	amount

	
	b.
	volume

	
	c.
	box

	5.
	[image: image5]The soap is __________. 

	
	a.
	solid

	
	b.
	fast

	
	c.
	grain


· Read the definition and write the word.
	string

   liquid

long
light

fast

safe
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	6.
	not dangerous
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______________________

	7.
	quick

	
	______________________

	8.
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not heavy

	
	______________________

	9.
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water, milk, etc.  

	
	______________________

	10.
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not short 

	
	______________________

	11.
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thin rope

	
	______________________


· Read the passage. Then choose the correct answer.
	[12-18]

Three brothers build houses.

① Billy builds a paper house. “Paper is light. You can 12. ____________ it easily.”

The wind blows the paper house away!

Bobby builds a metal house. ② “This house is safe. It’s like armor.”

The sun comes out. ③ 
Bo builds a brick house. “Bricks are strong. They are safe in any 
13. ____________.”


12. 

fold 



safe 



flat
13. 

cold 



year 



weather

	14. The wind blows the brick house down.
	True
	False

	15. The metal house is like armor.
	True
	False


16. What is the best place for the sentence below?

	The metal house gets too hot!


a. ①


b. ②



c. ③

17. Among three brothers, who built the weakest house?


a. Billy


b. Bobby


c. Bo
18. Why is metal bad for building a house?

a. Because it is too heavy.

b. Because it is too safe.

c. Because it gets too hot.

· Read the passage. Then choose the correct answer.

	[19-25]

Jen was having breakfast with her mom. ①
She poured a large 19. ____________ of cereal into a bowl.

“That’s a lot of cereal,” said Jen’s mom. “It’s too much.”
There was not much milk left in the 20. ____________. ②
“There’s not enough milk for my cereal,” Jen said.

“It’s going to be too dry!” 
“I need to go shopping,” said Jen’s mom.

“You’ll have to put some of the cereal back in the box.” ③
Finally, Jen had the perfect mixture of cereal and milk.



	19. 
	amount
	shape
	liquid

	20.
	zipper bag
	carton
	mark


21. Jen’s mom thinks
she has too much cereal.


True 

False
22. Jen puts too much milk into her bowl.



True 

False
23. What is the best place for the sentence below?

	In fact, it was nearly empty.


a. ①


b. ②



c. ③


24. Where does Jen put the extra cereal?

a. bowl


b. box


c. refrigerator
25. What will Jen’s mom probably do later?
a. She will probably drink some milk.
b. She will probably buy some cereal.
c. She will probably buy some milk.
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